Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester -III Regular / Remedial Examination December - 2010

Subject code:330601 Subject Name: Surveying —I
Date: 27 /12 /2010 Time: 10.30 am — 01.00 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1

Q.2

Q.3

(@)

(b)

(@)

(b)

Distinguish between

(1)plane surveying—Geodetic surveying

(2)Prismatic compass—Surveyor compass

(1)What are the obstacles in chaining? Explain any one method of overcoming
the obstacle.

(2)Explain main principle of surveying.

(1)Describe the construction of Metric chain with neat sketch

(2) Define Whole circle bearing, Quadrant bearing, Fore bearing
Back bearing
(1)The distance between two points measured with a20 m.chain was recorded as
327m.It was afterwards found that the chain was 3cm too long. What was the
true distance between the two points.
(2) Give the conventional symbols for the following.
Chain line, Embankment , Hedge
OR

1) Explain reciprocal ranging with neat sketch.

2)A 1.2 km long road is indicated in a map by a length of 30 cm. Find the scale
& R.F. of the map.

The following offsets are taken from a survey line to a curved boundary line.
Disttm) 0 5 10 15 20 30 40 60 80

Offset(m)2.5 3.8 46 52 6.1 47 58 39 22

Compute the area by Simpson’s rule.

The following bearings were observed in traversing with a compass, an area
where local attraction was suspected. Find out the correct bearings and the
included angles.

Line F.B. B,B,
AB 68°15 248° 15
BC 148° 15 ¢ 326°15
CD 224° 30 ¢ 46° 00’
DE 217°15° 38° 15
EA 327° 45° 147° 45°
OR

1)The magnetic bearing of a line CD is S 30° 15> W Find its true bearing, if the
declination is 10° 15’E
2) Convert the followingWCBs to QBs

45° 30", 222° 157, 320° 157, 125° 4%
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Q.4

Q.5

Q.5

(@)

(b)

3) Define closing error.Draw only sketch to adjust closing error by GRAPHICAL
method

State the principle of plane table survey. Enlist the advantages & dis -advantages
of plane table surveying.

Define orientation. What are the methods of orientation? Explain any one method.
The following consecutive readings were taken with a level and a 4m. leveling
staff on a continuously sloping ground at a common interval of 30 m.
0.855(on A), 1.545m, 2.335, 3.115, 3.825, 0.455, 1.380, 2.055, 2.855, 3.455,
0.585, 1.015, 1.850, 2.755, 3.845(on B)
The R.L. Of A was 380.500 Make entries in a level book and apply the usual
checks. Determine the Gradient of AB

OR
1)Enlist the characteristics of contours.
2)State the methods of plane table surveying. Discuss any one method ef.
Explain Curvature and Refraction Correction in leveling. Give the formulas for
combined correction.

1) Define the following terms in leveling.
Line of collimation, Bench mark, Change point,
2) Define the following term with respect to theodolite.
Transiting, Face left, Swinging, Least count
Describe the procedure of Temporary Adjustment of Dumpy level.
Also state the different types of leveling.

OR
1) Distinguish between collimation system & Rise- Fall system.
2) State the uses of theodolite.
State the classification of Theodolite. Describe the procedure of Temporary
Adjustment of Theodolite.
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